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Note for Examinee:   
i) This is an objective type question paper.  

ii) This question paper consists of 25 questions. You have to attempt only 20 

questions. Each question carries 2½ marks.  

iii) Each question has four alternatives, only one of which is correct. Mark the correct 

alternative on the question paper itself by putting the tick mark √ in the box given 

against it. ON COMPLETION, IT IS COMPULSORY FOR YOU TO SUBMIT THIS 

QUESTION PAPER TO YOUR INVIGILATOR. 

1. Where is the enzyme NADH-dehydrogenase located in the cell: 

iii) endoplasmic reticulum iv) nucleus 

2. Why is it necessary to chill the apparatus and solutions for the isolation of 

chloroplasts? 

i) for maintaining the activity of chloroplasts (to keep the chloroplasts alive) 

ii) to activate the enzymes of dark reaction 

iii) to activate the enzymes of light reaction  

iv) to maintain equilibrium of chemical reactions in dark phase 

3. Stomata open when the turgor pressure in the guard cells: 

i) decreases ii) remains same 

iii) increases iv) becomes zero 

i) cytoplasm ii) mitochondria 
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4. Which hormone is produced by embryo in the germinating seeds in order to digest the 

starch reserves of the endosperm? 

i) auxins ii) abscisic acid 

iii) cytokinins iv) GA3 (gibberelin) 

5. Which of the following is a synthetic plant growth regulator? 

i) cytokinin ii) gibbrellin 

iii) indole acetic acid (IAA) iv) 2,4-dichloro acetic acid (2,4-D) 

6. The transfer of pollen from an anther of one flower to the stigma of another flower is 

called: 

i) fertilization ii) pollination 

iii) germination  iv) anthesis 

7. Generally the ploidy nature of an angiospermous endosperm is: 

i) monoploid ii) diploid  

iii) triploid iv) polyploid 

8. The main function of endosperm haustorium is to provide: 

i) metabolites for developing embryo  ii) food for the developing ovary 

iii) nourishment for  stamens  iv) nourishment for  sporophyte 

9. When micropyle, chalaza and funicle lie in one straight line, the ovule is called as: 

i) anatropous ii) amphitropous 

iii) orthotropous iv) campylotropous 

10. The innermost layer of anther wall having dense cytoplasm and prominent nuclei 

which provides nutrition to developing microspore is called as: 

i) intine ii) endothecium 

iii) tapetum iv) fibrous layer 

11. Syngenesious condition of anther is found in family: 

i) Asteraceae (Compositae) ii) Ranunculaceae 

iii) Poaceae (Gramineae) iv) Malavaceae 

12. Gynobasic style is found in: 

i) Abutilon indicum ii) Triticum aestivum 

iii) Ocimum spp. iv) Argemone Mexicana 

13. Enzyme invertase helps in digestion of: 

i) proteins  ii) carbohydrates 

iii) lipids iv) amino acids 

14. Invertase activity in the cockroach gut can be observed in the: 

i) foregut ii) salivary glands 

iii) hind gut iv) mid gut 
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15. Enzyme lipase digests lipids into: 

i) fatty acids ii) glycerol 

iii) fatty acids and glycerol iv) starch 

16. The blood in the foot web of frog moves fastest in: 

i) vein ii) artery  

iii) lymph vessels iv) venule 

17. The number of WBCs (in cubic mm of blood) in a normal human being is: 

i) 2000-4000 ii) 4000-6000 

iii) 6000-8000 iv) 1000-3000 

18. The estrous cycle of rats and mice is of: 

i) One month ii) 15 days 

iii) 10-12 days iv) 4-5 days 

19. Normal heamoglobin concentration in human males is: 

i) 10-12% ii) 12-14% 

iii) 14-16% iv) 16-18% 

20. The excretory product of aquatic animals is: 

i) urea ii) uric acid 

iii) ammonia iv) none of these 

21. The muscle twitch is recorded on an instrument known as: 

i) kymograph ii) karyograph 

iii) mammograph iv) siesmograph 

22. Interstitial cells of Leydig produce the male hormone: 

i) estrogen ii) progesterone 

iii) androgen iv) testosterone 

23. In rat, bilobed, white coloured endocrine gland just above the heart is called: 

i) thyroid gland ii) thymus gland 

iii) pituitary gland iv) pancreas 

24. Islets of Langerhans are found in the: 

i) thyroid gland ii) thymus gland 

iii) pituitary gland iv) pancreas 

25. An African population with a heterogonous genotype of sickle cell allele (HbA/Hbs) is 

found, which is: 

i) susceptible to both malarial disease and sickle cell anemia. 

ii) resistant to both malarial diseases and sickle cell anemia. 

iii) resistant to malarial disease but susceptible to sickle cell anemia. 

iv) susceptible to malarial disease but resistant to sickle cell anemia. 
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foKku Lukrd (ch-,l lh-) 

ekpZ ijh{kk 2021  

ikB~;Øe dksM: ,y-,l-bZ-08(L):    ikB~;Øe “kh’kZd:  ç;ksx'kkyk dk;Z - II (ØsfMV: 4) 

le;: 1 ?k.Vk               vf/kdre vad: 50 

Ñi;k fuEufyf[kr fooj.k nhft,% 

vuqØekad la[;k vadksa esa  

         

vuqØekad la[;k 'kCnksa esa  

         

ijh{kk dsUnz dksM 

      
 

fnu vkSj fnuk¡d……………………………….. 

 

ek/;e (fgUnh)………………………… 

ijh{kkFkhZ dk uke……………………………….. 

ijh{kkFkhZ ds gLRkk{kj…………………………… 

fujh{kd ds gLrk{kj……………………………. 

dsoy ewY;kadudrkZ HkjsaA% 

çkIr vad…………………………………….. 

ewY;kadudrkZ ds gLrk{kj …………………. 

ewY;kadudrkZ dk uke……………………….. 

ewY;kadudrkZ dksM:……….…………………. 

 

  

 

…………………………………………………… 

ijh{kk v/kh{kd dh eksgj dsUnz dksM ds lkFk  

ijh{kkFkhZ Ñi;k uksV djsaA :     

  

i) ;g ,d oLrqfu’B izdkj dk iz”u i= gSA  

ii) bl iz”u i= esa 25 iz”u gSaA vkidks bu esa ls dsoy 20 iz”uksa ds mÙkj nsus gSaA izR;sd iz”u ds 

2½ vad gSaA  

iii) izR;sd iz”u esa pkj fodYi fn, x, gSa ftuesa ls dsoy ,d fodYi lgh gSA lgh fodYi pqudj 

mlds lkeus ckWDl esa √ fpg~u yxkb,A  

iz”uksa ds mÙkj nsus Ik”pkr~] iz”ui= dks vius fujh{kd dks tek djok vfuok;Z gSA 

1- dksf”kdk esa ,Utkbe NADH-MhgkbMªksftusl dgka ij fLFkr gksrk gS % 

i) dksf”kdknzO; ii) ekbVksdkWfUMª;k 

iii) ,UMksIySfLed jsVhdqye iv) dsUnzd 

2- gfjryod ¼DyksjksIykLV½ dks fo;qDr djus ds fy, midj.k vkSj foy;u dks “khfrr djuk D;ksa 

vko”;d gS\ 

i) gfjryodksa dh lfØ;rk dks cuk, j[kus ds fy, ¼gfjryodksa dks thfor j[kus ds fy,½ 

ii) vizdkf”kd vfHkfØ;kvksa ds ,Utkbeksa dks lfØf;r djus ds fy,  

iii) izdk”k vfHkfØ;k ds ,Utkbeksa dks lfØf;r djus ds fy, 

iv) vizdkf”kd vfHkfØ;kvksa esa jklk;fud lkE; dks cuk, j[kus ds fy, 
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3- ja/kz rc [kqyrs gSa tc }kj dksf”kdkvksa esa LQhfr nkc % 

i) de gks tkrk gS ii) leku cuk jgrk gS 

iii) c<+ tkrk gS iv)  “kwU; gks tkrk gS 

4- Hkwz.kiks’k esa LVkpZ HkaMkjksa dks ipkus ds fy, vadqj.k”khy cht ds Hkwz.k }kjk dkSu lk gkeksZu fufeZr 

fd;k tkrk gS\ 

i) vkWfDlu ii) ,Clhfld vEy 

iii) lkbVksdkbfuu iv) GA3 ¼ftcjSfyu½ 

5- fuEufyf[kr esa ls dkSu lk Ñf=e ikni o`f) fu;a=d gS\ 

i) lkbVksdkbfuu ii) ,Clhfld vEy 

iii) baMksy ,slhfVd ,flM (IAA) iv) 2, 4-MkbDyksjks ,lhfVd vEy (2, 4 - D) 

6- ,d iq’i ds ijkx-dks”k ls vU; iq’i ds ofrZdkxz ij ijkxd.kksa dk LFkkukarj.k dgykrk gS % 

i) fu’kspu ii) ijkx.k 

iii) vadqj.k iv) ijkxksn~~Hko 

7- ,d f}chti=h; Hkwz.kiks’k dk xqf.krk Lrj lkekU;r% gksrk gS % 

i) ,dxqf.kr ii) f}xqf.kr  

iii) f=xqf.kr iv) cgqxqf.kr 

8- Hkwz.kiks’k pw’kdkax dk eq[; dk;Z fuEu dks iznku djuk gSa % 

i) fodkl”khy Hkwz.k ds fy, mikip;t ii) fodkl”khy vaMk”k; ds fy, Hkkstu 

iii) iqadsljksa ds fy, iks’k.k iv) chtk.kqmn~fHkn ds fy, iks’k.k 

9- tc chtkaM}kj] dSyktk vkSj chtkaMoàÙk ,d lh/kh js[kk esa fLFkr gksrs gSa] rks chtkaM dgykrk gS % 

i) izrhi ii) vuqizLFk 

iii) J`tq iv) oØ 

10- ijkxdks”k fHkfÙk dh lcls Hkhrjh ijr ftlesa l?ku dksf”kdknzO; vkSj Li’V dsUnzd gksrs gSa] vkSj 

tks fodkl”khy y?kqchtk.kq dks iks’k.k iznku djrh gS] og dgykrh gS % 

i) var%pksy ii) vUrLFkhfl;e@,UMksFkhfl;e 

iii) VsihVe iv) rarqe; ijr 
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11- ijkx-dks”k dh ;qDrdks”kh fLFkfr ikbZ tkrh gS] dqy % 

i) ,LVsjslh ¼daiksftVh½ esa ii) jSuudqyslh esa 

iii) iks,lh ¼xSzfeuh½ esa iv) ekYoslh esa 

12- xkbukscsfld ¼tk;kax ukfHkd½ ofrZdk ikbZ tkrh gS % 

i) ,C;wfVyksu baMhde esa ii) fVªfVde ,sLVkboe esa 

iii) vkslhee lsUdVe esa iv) vkthZeksu eSDlhdkuk esa 

13- ,Utkbe buoVsZl ikpu esa lgk;d gksrk gS % 

i) izksVhu ds ii) dkcksZgkbMªsV ds 

iii) fyfiM ds iv) ,sehuks vEy ds 

14- buoVsZl dh fØ;k fn[kkbZ nsrh gaS dksdjksp dh vkar ds % 

i) vxzkaÙk esa ii) ykj xazfFk;ksa esa 

iii) i”pka= esa iv) e/;ka= esa 

15- ,Utkbe ykbisl fyfiMksa dks ikfpr djrk gS % 

i) olk vEyksa esa iii) fXyljkWy esa 

iii) olk vEy vkSj fXyljkWy esa iv) LVkpZ esa 

16- es<+d ds ikntky esa] :f/kj dh xfr lcls rhoz gksrh gS % 

i) f”kjk esa iii) /keuh esa 

iii) ylhdk okfgdk esa iv) f”kfjdk,sa esa 

17- ,d lkekU; euq’; esa “osr jDr dksf”kdkvksa (WBCs) ¼izfr ?ku feyhehVj jDr esa½ dh la[;k gksrh 

gS % 

i) 2000-4000 ii) 4000-6000 

iii) 6000-8000 iv) 1000-3000 

18- pwgksa vkSj ew’kdksa dk enpØ gksrk gS % 

i) ,d ekg dk ii) 15 fnu dk 

iii) 10-12 fnu dk v) 4-5 fnu dk 
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19- iq:’kksa esa lkekU; gheksXykschu lkanzrk gksrh gSa % 

i) 10-12% ii) 12-14% 

iii) 14-16% iv) 16-18% 

20- tyh; tarqvksa esa mRltZu mRikn gksrk gS % 

i) ;wfj;k ii) ;wfjd vEy 

iii) veksfu;k iv) mi;qZDr esa ls dksbZ ugha 

21- is”kh LQqj.k dks bl midj.k ls fjdkWMZ fd;k tkrk gS % 

i) dkbeksxzkQ ii) dS;ksZxzkQ 

iii) eSeksxzkQ iv) lhLeksxzkQ 

22- varjkyh yhfMx dksf”kdk,a bl gkeksZau dks cukrh gSa % 

i) ,LVªkstu ii) izkstsLVsjksu 

iii) ,UMªkstu iv) VsLVksLVsjksu 

23- pwgs esa ân; ds Åij] vkfyan ds fudV ,d f}ikfy;qDr] lQsn jax dh var%L=koh xazfFk ikbZ tkrh 

gS] tks dgykrh gS % 

i) FkkbjkWbM xazfFk ii) Fkkbel xzafFk  

iii) ih;w’k xazfFk iv) vXU;k”k;@iSfUØ;kt+ 

24- ySaxjgSl }hi ik, tkrs gSa % 

i) FkkbjkWbM xazfFk esa ii) Fkkbel xazfFk esa 

iii) ih;w’k xazfFk esa iv) vXU;k”k;@iSfUØ;kt+ esa 

25- vÝhdh tuksa esa ,d ok= ¼flfdy½ dksf”kdk ,yhy (HbA/Hbs) dk ,d fo’ke;qXeth thuiz:i 

ik;k tkrk gSa] tks % 

i) eysfj;k jksx vkSj nk= dksf”kdk vjDrrk nksuksa ds fy, laosnu”khy gksrk gS 

ii) eysfj;k jksx vSj nk= dksf”kdk vjDrrk nksuksa ds fy, izfrjks/kh gksrk gS 

iii) eysfj;k jksx ds fy, izfrjks/kh ysfdu nk= dksf”kdk vjDrrk ds fy, laosnu”khy gksrk gS 

iv) eysfj;k jksx ds fy, laosnu”khy ysfdu nk= dksf”kdk vjDrrk ds fy, izfrjks/kh gksrk gS 
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